Answers to Section 5.4 A81

3. 23 y = Vx sin Smx is a sine (©) 25 (d) f(x) approaches 0
curve that lies between the {e) f(x) approaches 2
graphs of y = V/x and
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4. 2 _cos 2mx 77. (a) 20s (b) 61t

y= 1—+-Tis a cosine 78. (a) #5s (b) 440 (¢) ¥
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curve that lies between the o7
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graphs of y = [+ 12 and ; 1\

_ 1 Kg \ X
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5. y = cos 3mx cos 21wx is a co-
sine curve that lies between the
graphs Og ; 79. (a) & min  (b) 80
5 Y = oS X an © (d) 42 it is higher than

y = —cos 37x normal
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y = sin 27rx sin 107rx is a sine
curve that lies between the
graphs of y = sin 27rx and 0[ : 1 ox
y = —sin 27x

80. (a) 312days (b) 10,58 (¢}

7. Maximum value 1.76 when x ~ 0.94, minimum value —1.76 /\

/hen x = —0.94 (The same maximum and minimum values occur
t infinitely many other values of x.)

8. Maximum value 6.97 when x = 5.24, minimum value —0.68 T
/hen x = 1.05 (The same maximum and minimum a
alues occur at infinitely many other values of x.)

9, Maximum value 3.00 when x z1.57, minimum value —1.00 SEC'”ON 5.4 a PAGE 405

then x = —1.57 (The same maximum and minimum values occur
t infinitely many other values of x.)

0. Maximum value 0.58 when x = 5.76 (exact value is

= ]1r/6, Minimum value —0.58 when x =~ 3.67 (exact value is
= 77/6) (The same maximum and minimum values occur at in-
nitely many other values of x.)

1. .16 72. 1.11 73. 0.34,2.80 74, 0.74

5. (a) Odd (b) 0, X277, *dar, =671, ...

3} 1 (d) f(x) approaches 0

( (e) f(x) approaches 0
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1. m; % + nmr, n an integer 2. 2r; nor, 1 an integer
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6. (a) Even
3) 0, tarf4, =2w/4, £3mw/d, . ..
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51. 2 52. 2m/3 SECTION 5.6 = PAGE 420
| no | | | ' | | 1. (a) asinwr (b) acos wt
: I | : : E U : \/ ; 2. (a) ke™“sinwt (b) ke cos wt
Lo AWA | 14 i . 3. (@) 2,27/3,3/(2n) 4. (a) 3,4m, 1/(47)
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57. (2) 1.53 mi, 3.00 mi, 18.94 mi I Sl
(b) N
7. (@) 1,473, 3/(4m) ()
0.25
(¢) d(t) approaches co . /\
58. (a) S(2) = 1039 ft, S(8) = 3.46 ft, S(112) = 91.54 f, o 2 ‘ \
S(12) is undefined ’
(b) ~0.257

8. (a) 2, 107, 1/(107w) (®) ¥

(c) 3,9;9:00 aM., 3:00 p.M.
(d) The shadow gets increasingly longer.

SECTION 5.5 = PAGE 411

1. (@) [—w/2, w/2), v, x, w6, w/6,%

®) [0, 7]y, x, 7/3, /3,5 2. [—1,1];(b) 9. (a) 5,37, 1/37) (B)
3. w2 (b) w/3 (c) Undefined 4. (a) —w/2 (b) =/4 ~{
(¢) Undefined 5. (@) w (b) #w/3 () Sw/6 6. (2) /4 \
) 0 (&) 3n/4 7. (@ —w/4 (B) w3 () w/6 8. (a)0 !
®) —7f3 (© —w/6 9. @) 2#/3 (b) —w/4 () w/4 + .
10. @) 7/2 () 0 (¢) —w/6 11. 0.72973 12. —1.09491 ‘ '
13. 2.01371 14. 1.11024 15. 275876 16. 0.13889

17. 147113 18, —1.53235 19. 0.88998 20. Undefined
21. —0.26005 22. —0.25168 23.1 24. %2 25 5 sl
26. Undefined 27. Undefined 28. % 29. 5uw/6 30. w/4
3. —w/6 32 —w/4 33. w/6 34 w/6 35 w/6 36 w3

37. —w/3 38 wfd 39.\/3/3 40.1 411 42,1

43. =\/2/2 44. —\/3)2




